Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Accuplacer®	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
ACT®	9-12	Test Prep	ACT-SAT	994025	No	No	1				\$100		Edgenuity
ACT WorkKeys®	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
Advertising & Sales Promotion	9-12	Marketing	MKTG-1	040001	No	No	1	\$275			\$100		Edgenuity
African-American History	9-12	Social Studies	AF-AM HIST	156683	Yes	No	1	\$275			\$100		Edgenuity
Agribusiness Systems	9-12	Agriculture	AG BUS, RES, D	016807	No	No	1	\$275			\$100		Edgenuity
Agriscience I: Introduction to Agriscience	9-12	Agriculture	AG FOOD & NR	016800	No	No	1	\$275			\$100		Edgenuity
Agriscience II A/B: Sustaining Human Life	9-12	Agriculture	AG FOOD & NR	016800	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Algebra I A/B	9-12	Mathematics	ALGEBRA	115810	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Algebra I Honors A/B	9-12	Mathematics	ALGEBRA	115810	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Algebra II A/B	10-12	Mathematics	ALGEBRA	115810	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Algebra II Honors A/B	10-12	Mathematics	ALGEBRA	115810	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
American Sign Language I A/B	9-12	Foreign Language	ASL	062000	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
American Sign Language II A/B	9-12	Foreign Language	ASL	062000	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Animation	9-12	Art	OTHER ART	024199	No	No	1	\$275			\$100		Edgenuity
Anthropology I: Uncovering Human Mysteries	9-12	Social Studies	ANTHROPLGY	156680	Yes	No	1	\$275			\$100		Edgenuity
Anthropology II: More Human Mysteries Uncovered	9-12	Social Studies	ANTHROPLGY	156680	Yes	Yes	1	\$275			\$100		Edgenuity
AP Biology A/B	9-12	AP-Science	AP-BIOLOGY	134295	Yes	No	2	\$275	\$550	\$200	\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cat	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
AP Calculus AB A/B	11-12	AP- Mathematics	AP-CALC AB	115895	Yes	Yes	2	\$275	\$550	\$200	\$100	\$200	Edgenuity
AP English Language & Composition A/B	11	AP-English Language Arts	AP-ENG LN CP	054895	Yes	No	2	\$275	\$550	\$200	\$100	\$200	Edgenuity
AP English Literature & Composition A/B	12	AP-English Language Arts	AP-ENG LT CP	054995	Yes	No	2	\$275	\$550	\$200	\$100	\$200	Edgenuity
AP Environmental Science A/B	9-12	AP-Science	AP-ENVIR SCI	134195	Yes	No	2	\$275	\$550	\$200	\$100	\$200	Edgenuity
AP French Language & Culture A/B	9-12	AP-Foreign Language	AP-FRN LN CL	064995	Yes	Yes	2	\$275	\$550	\$200	\$100	\$200	Edgenuity
AP Human Geography A/B	9-12	AP-Social Studies	AP-HUM GEPHY	156495	Yes	No	2	\$275	\$550	\$200	\$100	\$200	Edgenuity
AP Psychology A/B	9-12	AP-Social Studies	AP-PSYCHOLGY	156195	Yes	No	2	\$275	\$550	\$200	\$100	\$200	Edgenuity
AP Spanish Language & Culture A/B	9-12	AP-Foreign Language	AP-SPAN LANG	066395	Yes	Yes	2	\$275	\$550	\$200	\$100	\$200	Edgenuity
AP Statistics A/B	9-12	AP- Mathematics	AP-STAT	115795	Yes	No	2	\$275	\$550	\$200	\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	ım	(MOCA	P) Cou	rse Cat	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
AP United States Government & Politics	9-12	AP-Social Studies	AP-US GOVPOL	156795	Yes	No	1	\$275		\$200	\$100		Edgenuity
AP United States History A/B	9-12	AP-Social Studies	AP-US HIST	156295	Yes	No	2	\$275	\$550	\$200	\$100	\$200	Edgenuity
AP World History A/B	9-12	AP-Social Studies	AP-WORLD HIS	156395	Yes	No	2	\$275	\$550	\$100	\$100	\$200	Edgenuity
Archaeology: Detectives of the Past	9-12	Science	GEN SCI	135000	Yes	No	1	\$275			\$100		Edgenuity
Art History I A/B	9-12	Fine Arts	ART APPREC	024110	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Astronomy I: Exploring the Universe A/B	9-12	Science	ASTRONOMY	133810	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
ASVAB® (Math, Verbal, Science)	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
Biology A/B	9-12	Science	BIOLOGY	134200	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
Biotechnology I: Unlocking Nature's Secrets A/B	9-12	Industrial Technology	BIO-TECH	105401	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	ım	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Business Computer Information Systems A/B	9-12	Business	BUS TECH	034330	N	N	2	\$275	\$550		\$100	\$200	Edgenuity
Business Law	9-12	Business	BUS LAW	034321	No	No	1	\$275			\$100		Edgenuity
Career Explorations A/B	9-12	Elective	CAREER ED	995050	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Career Management	9-12	Elective	CAREER ED	995050	No	No	1	\$275			\$100		Edgenuity
Career Planning & Development	9-12	Elective	CAREER ENTRE	096803	No	No	1	\$275			\$100		Edgenuity
Careers in Allied Health	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Careers in Criminal Justice	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Character and Leadership Development	6-12	Elective	EXP-ENRICH	991010	No	No	1	\$275					Edgenuity
Chemistry A/B	9-12	Science	CHEMISTRY	134600	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	l Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Chinese 1 A/B	6-8	Foreign Language	CHINESE	069010	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Chinese 2 A/B	6-8	Foreign Language	CHINESE	069010	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Chinese I A/B	9-12	Foreign Language	CHINESE	069010	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
Chinese II A/B	9-12	Foreign Language	CHINESE	069010	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
College and Career Readiness	6-12	Elective	LIFE SKILL	994020	No	No	1	\$275					Edgenuity
Computer Applications: Office® 2016 A/B	9-12	Business	COMP APP	034352	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Concepts in Probability & Statistics A/B	9-12	Mathematics	PROB-STAT	115875	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Concepts of Engineering & Technology	9-12	Industrial Technology	ENGR TECH	105407	No	No	1	\$275			\$100		Edgenuity
Contemporary Health	9-12	Health	HEALTH	085300	No	No	1	\$275			\$100		Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cat	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Cosmetology 1: Cutting Edge Styles	9-12	Elective	COSMETOLGY	096900	No	No	1	\$275			\$100		Edgenuity
Cosmetology 2: The Business of Skin & Nail Care	9-12	Elective	COSMETOLGY	096900	No	Yes	1	\$275			\$100		Edgenuity
Creative Writing	9-12	English Language Arts	CREAT WRTG	054805	Yes	No	1	\$275			\$100		Edgenuity
Criminology: Inside the Criminal Mind	9-12	Social Studies	BEHAVR SCI	156102	No	No	1	\$275			\$100		Edgenuity
Culinary Arts I A/B	9-12	Elective	FOOD SCI	096827	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Cybersecurity I A/B	9-12	Career Education	CYBERSECUR	100434	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Digital Photography I A/B: Creating Images with Impact!	9-12	Fine Arts	PHOTOGRPHY	024130	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Digital Photography II: Discovering Your Creative Potential	9-12	Fine Arts	PHOTOGRPHY	024130	No	Yes	1	\$275			\$100		Edgenuity
Early Childhood Education I A/B	9-12	Elective	ERL CHLD PRO	096831	No	No	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	•
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Earth & Space Science A/B	9-12	Science	GEN SCI	135000	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Economics	9-12	Social Studies	ECONOMICS	156630	Yes	No	1	\$275			\$100		Edgenuity
Engineering and Design	9-12	Elective	EX ENG	100428	No	No	1	\$275			\$100		Edgenuity
Engineering and Product Development	9-12	Elective	EX ENG	100428	No	No	1	\$275			\$100		Edgenuity
English Language Arts 6 A/B	6	English Language Arts	LANG ARTS	054800	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
English Language Arts 7 A/B	7	English Language Arts	LANG ARTS	054800	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
English Language Arts 8 A/B	8	English Language Arts	LANG ARTS	054800	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
English Language Arts I A/B	9	English Language Arts	LANG ARTS	054800	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
English Language Arts I Honors A/B	9	English Language Arts	LANG ARTS	054800	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	l Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
English Language Arts II A/B	10	English Language Arts	LANG ARTS	054800	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
English Language Arts II Honors A/B	10	English Language Arts	LANG ARTS	054800	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
English Language Arts III A/B	11	English Language Arts	AMER LIT	054821	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
English Language Arts III Honors A/B	11	English Language Arts	AMER LIT	054821	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
English Language Arts IV A/B	12	English Language Arts	ENG LIT	054823	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
English Language Arts IV Honors A/B	12	English Language Arts	ENG LIT	054823	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Environmental Science A/B	9-12	Science	EARTH SCI	133800	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
EOC Algebra I	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
EOC Algebra II	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	ım	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
EOC American History	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
EOC Biology	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
EOC English Language Arts 9	9	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
EOC English Language Arts 10	10	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
EOC Geometry	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
EOC Government	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
EOC Physical Science	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
Expository Reading and Writing A/B	9-12	English Language Arts	O LANG ART	054899	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Fashion & Interior Design	9-12	Elective	FASH DSGN	096846	No	No	1	\$275			\$100		Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Financial Math A/B	9-12	Mathematics	OTHER MATH	115899	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Fire & Emergency Services	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Food Products and Processing Systems	9-12	Agriculture	FOOD SCI	016790	No	No	1	\$275			\$100		Edgenuity
Food Safety and Sanitation	9-12	Agriculture	FOOD SCI & S	016805	No	No	1	\$275			\$100		Edgenuity
Forensic Science I: Secrets of the Dead	9-12	Science	GEN SCI	135000	Yes	No	1	\$275			\$100		Edgenuity
Forensic Science II: More Secrets of the Dead	9-12	Science	GEN SCI	135000	Yes	Yes	1	\$275			\$100		Edgenuity
Forestry & Natural Resources	9-12	Agriculture	NATRL RES ECO	016804	No	No	1	\$275			\$100		Edgenuity
Foundations of Personal Wellness A/B	9-12	Health	HEALTH	085300	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
French 1 A/B	6-8	Foreign Language	FRENCH	064900	No	No	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	l Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
French 2 A/B	6-8	Foreign Language	FRENCH	064900	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
French I A/B	9-12	Foreign Language	FRENCH	064900	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
French II A/B	9-12	Foreign Language	FRENCH	064900	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
French III A/B	9-12	Foreign Language	FRENCH	064900	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Fundamentals of Programming and Software Development	9-12	Business	COMP PROG	034355	No	No	1	\$275			\$100		Edgenuity
Game Design I A/B	9-12	Business	COMP APP	034352	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
GED®	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
Geometry A/B	9-12	Mathematics	GEOMETRY	115830	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Geometry Honors A/B	9-12	Mathematics	GEOMETRY	115830	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	l Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	•
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
German 1 A/B	6-8	Foreign Language	GERMAN	065100	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
German 2 A/B	6-8	Foreign Language	GERMAN	065100	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
German I A/B	9-12	Foreign Language	GERMAN	065100	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
German II A/B	9-12	Foreign Language	GERMAN	065100	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Gothic Literature: Monster Stories	9-12	English Language Arts	O LANG ART	054899	Yes	No	1	\$275			\$100		Edgenuity
Grade 6 World History A/B	6	Social Studies	SOC STUD	156600	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Grade 7 World Geography A/B	7	Social Studies	SOC STUD	156600	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Grade 8 U.S. History A/B	8	Social Studies	SOC STUD	156600	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Great Minds in Science: Ideas for a New Generation	9-12	Science	GEN SCI	135000	No	No	1	\$275			\$100		Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cat	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Health Science Concepts A/B	10-12	Elective	HLTH INFO	070927	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Healthy Living	9-12	Health	HEALTH	085300	No	No	1	\$275			\$100		Edgenuity
HiSET®	9-12	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
History of the Holocaust	9-12	Social Studies	O HISTORY	156660	Yes	No	1	\$275			\$100		Edgenuity
Hospitality & Tourism I: Traveling the Globe	9-12	Elective	НТМР І	096904	No	No	1	\$275	\$550		\$100	\$200	Edgenuity
Hospitality & Tourism II A/B	9-12	Elective	НТМР І	096904	No	No	2	\$275			\$100		Edgenuity
International Business: Global Commerce in the 21st Century	9-12	Business	INTER BUS	034391	No	No	1	\$275			\$100		Edgenuity
Introduction to Agriculture, Food, and Natural Resources	9-12	Agriculture	AG FOOD & NR	016800	No	No	1	\$275			\$100		Edgenuity
Introduction to Careers in Architecture and Construction	9-12	Industrial Technology	ARCH DSGN	105431	No	No	1	\$275			\$100		Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cat	alog-Ed	genuity	•
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Introduction to Careers in Arts, AV Tech, and Communications	9-12	Business	MULTIM	034356	No	No	1	\$275			\$100		Edgenuity
Introduction to Careers in Education and Training	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Introduction to Careers in Finance	9-12	Business	BANKING	034303	No	No	1	\$275			\$100		Edgenuity
Introduction to Careers in Government and Public Administration	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Introduction to Careers in Health Sciences	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Introduction to Coaching	9-12	Physical Education	OTHER PE	086099	No	No	1	\$275			\$100		Edgenuity
Introduction to Consumer Services	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Introduction to Human Growth and Development	9-12	Family & Consumer Science	HUMAN DEV	096828	No	No	1	\$275			\$100		Edgenuity
Introduction to Human Services	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cat	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Introduction to Network Systems	9-12	Business	NETW ADM	034354	No	No	1	\$275			\$100		Edgenuity
Introduction to STEM	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Introduction to Art A/B	9-12	Fine Arts	ART	024100	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Introduction to Business A/B	10-12	Business	INTRO BUS	034300	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Introduction to Careers in Transportation, Distribution, & Logistics	9-12	Industrial Technology	EX TRAN DIST	100431	No	No	1	\$275			\$100		Edgenuity
Introduction to Coding	9-12	Elective	COMPUTER SCI	991105	No	No	1	\$275			\$100		Edgenuity
Introduction to Communications & Speech A/B	9-12	Journalism	SPEECH	056500	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Introduction to Information Technology	9-12	Business	BUS TECH	034330	No	No	1	\$275			\$100		Edgenuity
Introduction to Information Technology Support & Services	9-12	Business	BUS TECH	034330	No	No	1	\$275			\$100		Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	ım	(MOCA	P) Cou	rse Cat	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Introduction to Law, Public Safety, Corrections, & Security	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Introduction to Manufacturing Product Design & Innovation	9-12	Elective	MAN TC	172310	No	No	1	\$275			\$100		Edgenuity
Introduction to Military Careers	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Introduction to Philosophy: The Big Picture	9-12	Elective	PHILOSOPHY	990100	Yes	No	1	\$275			\$100		Edgenuity
Introduction to Social Media	9-12	Business	COMP APP	034352	No	No	1	\$275			\$100		Edgenuity
Journalism I: Investigating the Truth A/B	9-12	Journalism	JOURNALISM	054810	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
Latin 1 A/B	6-8	Foreign Language	LATIN	065700	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Latin 2 A/B	6-8	Foreign Language	LATIN	065700	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Latin I A/B	9-12	Foreign Language	LATIN	065700	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cat	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Latin II A/B	9-12	Foreign Language	LATIN	065700	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Law & Order: Introduction to Legal Studies	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Law Enforcement Field Services	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Lifetime Fitness	9-12	Physical Education	OTHER PE	086099	No	No	1	\$275			\$100		Edgenuity
Literacy & Comprehension I A/B	6-8	English Language Arts	O LANG ART	054899	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Literacy & Comprehension II A/B	9-12	English Language Arts	O LANG ART	054899	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
MAP Grade 8 Science	8	Test Prep	STDY SKILL	994012	No	No	1				\$100		Edgenuity
Marine Science I A/B	9-12	Science	GEN SCI	135000	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
Marketing and Sales for Tourism and Hospitality	9-12	Marketing	TRAV TOUR	040017	No	No	1	\$275			\$100		Edgenuity

Missouri Co	urse A	Access and	l Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Mathematical Models with Applications A/B	9-12	Mathematics	APLD MATH	115825	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Mathematics 6 A/B	6	Mathematics	SUPP MATH	115891	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Mathematics 7 A/B	7	Mathematics	SUPP MATH	115891	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Mathematics 8 A/B	8	Mathematics	SUPP MATH	115891	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Mathematics I A/B	9-12	Mathematics	MATH	115800	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Mathematics II A/B	9-12	Mathematics	MATH	115800	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Mathematics III A/B	9-12	Mathematics	MATH	115800	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Medical Terminology	9-12	Elective	MED TERM	070934	No	No	1	\$275			\$100		Edgenuity
Mental Health & Wellness	6-12	Elective	EXP-ENRICH	991010	No	No	1	\$275					Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Microsoft Office® Specialist A/B	9-12	Business	COMP APP	034352	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Middle School 2D Studio Art A/B	6-8	Fine Arts	OTHER ART	024199	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Middle School Coding A/B	6-8	Elective	COMPUTER SCI	991105	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Middle School Digital Art & Design A/B	6-8	Fine Arts	OTHER ART	024199	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Middle School Exploring Music A/B	6-8	Fine Arts	MUSIC APPR	126920	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Middle School Game Design A/B	6-8	Business	COMP APP	034352	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Middle School Journalism A/B	6-8	English Language Arts	JOURNALISM	054810	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Middle School Photography A/B	6-8	Fine Arts	PHOTOGRPHY	024130	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Modern World History A/B	9-12	Social Studies	WORLD HIST	156663	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	ım	(MOCA	P) Cou	rse Cat	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Music Appreciation	9-12	Fine Arts	MUSIC APPR	126920	No	No	1	\$275			\$100		Edgenuity
Mythology & Folklore: Legendary Tales	9-12	English Language Arts	MYTHOLOGY	054850	Yes	No	1	\$275			\$100		Edgenuity
National Security	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Network System Design	9-12	Business	NETW ADM	034354	No	No	1	\$275			\$100		Edgenuity
New Applications: Web Development in the 21st Century	9-12	Business	COMP APP	034352	No	No	1	\$275			\$100		Edgenuity
Nursing Assistant A/B	10-12	Elective	MED ASST	070917	No	Yes	2				\$100	\$200	Edgenuity
Nutrition & Wellness	9-12	Elective	NUTR/WELL	096824	No	No	1	\$275			\$100		Edgenuity
Online Learning & Digital Citizenship	6-9	Business	COMP APP	034352	No	No	1	\$275			\$100		Edgenuity
Peer Counseling	9-12	Elective	PEER TUTOR	992010	No	No	1	\$275			\$100		Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cat	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Personal Development	6-12	Elective	EXP-ENRICH	991010	No	No	1	\$275					Edgenuity
Personal Finance	9-12	Elective	PERS FIN	996400	No	No	1	\$275			\$100		Edgenuity
Pharmacy Technician A/B	10-12	Elective	PH TECH ASST	070930	No	Yes	2				\$100	\$200	Edgenuity
Physical Science A/B	9-12	Science	PHYS SCI	135010	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
Physics A/B	9-12	Science	PHYSICS	135900	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
Physiology	9-12	Science	PHYS-ANAT	134221	No	No	1	\$275			\$100		Edgenuity
Power Structural & Technical Systems	9-12	Skilled Technical Services	ELEC POW	171400	No	No	1	\$275			\$100		Edgenuity
Pre-Algebra A/B	6-8	Mathematics	PRE-ALG	115815	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Precalculus A/B	10-12	Mathematics	EL FUNCT	115870	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Co	urse A	Access and	d Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	,
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Precalculus Honors A/B	10-12	Mathematics	EL FUNCT	115870	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Principles of Agriculture, Food, & Natural Resources	9-12	Agriculture	AG FOOD & NR	016800	No	No	1	\$275			\$100		Edgenuity
Principles of Public Service: To Serve & Protect	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
PSAT®	9-12	Test Prep	ACT-SAT	994025	No	No	1				\$100		Edgenuity
Psychology A/B	9-12	Social Studies	PSYCHOLOGY	156100	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
Public Speaking A/B	9-12	Elective	PUB SPEAK	056501	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Real World Parenting	9-12	Elective	PARENTING	096830	No	No	1	\$275			\$100		Edgenuity
Renewable Technologies I A/B	9-12	Industrial Technology	ENGY-POWER	105410	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Running	9-12	Elective	OTHER PE	086099	No	No	1	\$275			\$100		Edgenuity

Missouri Co	urse A	Access and	l Virtual S	chool	Pro	gra	m	(MOCA	P) Cou	rse Cata	alog-Ed	genuity	•
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
SAT®	9-12	Test Prep	ACT-SAT	994025	No	No	1				\$100		Edgenuity
Science 8 A/B	8	Science	GEN SCI	135000	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Small Business Entrepreneurship	9-12	Business	ENTREPRE	034305	No	No	1	\$275			\$100		Edgenuity
Social and Emotional Success	6-12	Elective	EXP-ENRICH	991010	No	No	1	\$275					Edgenuity
Social Problems I: A World in Crisis	9-12	Elective	CONTMP ISS	156620	Yes	No	1	\$275			\$100		Edgenuity
Social Problems II: Crisis, Conflicts, & Challenges	9-12	Elective	CONTMP ISS	156620	Yes	No	1	\$275			\$100		Edgenuity
Sociology	9-12	Social Studies	SOCIOLOGY	156670	Yes	No	1	\$275			\$100		Edgenuity
Software Development Tools	9-12	Business	COMP APP	034352	No	No	1	\$275			\$100		Edgenuity
Spanish 1 A/B	6-8	Foreign Language	SPANISH	066300	No	No	2	\$275	\$550		\$100	\$200	Edgenuity

Missouri Course Access and Virtual School Program (MOCAP) Course Catalog-Edgenuity													
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Spanish 2 A/B	6-8	Foreign Language	SPANISH	066300	No	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Spanish I A/B	9-12	Foreign Language	SPANISH	066300	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
Spanish II A/B	9-12	Foreign Language	SPANISH	066300	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Spanish III A/B	9-12	Foreign Language	SPANISH	066300	Yes	Yes	2	\$275	\$550		\$100	\$200	Edgenuity
Sports & Entertainment Marketing	9-12	Elective	SPT ENT MKTG	040014	No	No	1	\$275			\$100		Edgenuity
Sports Officiating	9-12	Physical Education	OTHER PE	086099	No	No	1	\$275			\$100		Edgenuity
Strategies for Academic Success	9-12	Elective	STDY SKILL	994012	No	No	1	\$275			\$100		Edgenuity
Statistics A/B	9-12	Mathematics	PROB-STAT	115875	No	No	2	\$275	\$550		\$100	\$200	Edgenuity
Strength Training	9-12	Elective	OTHER PE	086099	No	No	1	\$275			\$100		Edgenuity

Missouri Course Access and Virtual School Program (MOCAP) Course Catalog-Edgenuity													
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	Curriculum Only *** Per Semester	Curriculum Only *** Per Year	Vendor
Survey of United States History A/B	9-12	Social Studies	AMER HIST	156661	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
Sustainable Service Management for Hospitality & Tourism	9-12	Elective	НТМР І	096904	No	No	1	\$275			\$100		Edgenuity
Technology & Business	9-12	Elective	EXP-ENRICH	991010	No	No	1	\$275			\$100		Edgenuity
Transportation and Tours for the Traveler	9-12	Marketing	TRAV TOUR	040017	No	No	1	\$275			\$100		Edgenuity
Trigonometry	9-12	Mathematics	TRGONOMTRY	115860	Yes	Yes	1	\$275			\$100		Edgenuity
United States Government	9-12	Social Studies	AMER GOVT	156651	Yes	No	1	\$275			\$100		Edgenuity
United States History II A/B	9-12	Social Studies	AMER HIST	156661	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
Unlock Your Purpose	6-12	Elective	EXP-ENRICH	991010	No	No	1	\$275					Edgenuity
Veterinary Science: The Care of Animals	9-12	Agriculture	VET SCI	016745	No	No	1	\$275			\$100		Edgenuity

Missouri Course Access and Virtual School Program (MOCAP) Course Catalog-Edgenuity													
Course Name	Grade Level (K-12)	Type of Credit (ELA, Science, Electives, Etc.)	MOSIS Course Abbreviation	MOSIS Course ID	NCAA Approved? (Yes or No)	Prerequisites (Yes or No)	Number of Semesters (1 or 2)	Per Semester With Teachers	Per Year With Teachers	Materials and Book Cost	-	Curriculum Only *** Per Year	Vendor
Walking Fitness	9-12	Elective	OTHER PE	086099	No	No	1	\$275			\$100		Edgenuity
World History II A/B	9-12	Social Studies	WORLD HIST	156663	Yes	No	2	\$275	\$550		\$100	\$200	Edgenuity
World Religions: Exploring Diversity	9-12	Social Studies	WLD RELGNS	156672		No		\$275			\$100		Edgenuity
Published 08/04/20													